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BLOQUE B
(-(5&,&,2����75$=$'2�*(20e75,&2�

Dado el eje menor CD de una elipse, se pide:
1. 'LEXMDU�HO�HMH�PD\RU�$%�\�ORV�IRFRV�GH�OD�FyQLFD��VDELHQGR�TXH�HO�iQJXOR�FRQ�HO�TXH�VH�DEDUFD�HO�HMH�PHQRU�GHVGH

FXDOTXLHUD�GH�ORV�H[WUHPRV�GHO�HMH�PD\RU��$�R�%��HV�GH�����
2. 5HSUHVHQWDU�OD�FyQLFD�
3. 7UD]DU�OD�WDQJHQWH�\�OD�QRUPDO�HQ�HO�SXQWR�3�GH�OD�FyQLFD�TXH�VH�HQFXHQWUD�D�XQD�GLVWDQFLD�GH����PP�GHO�IRFR�PiV

FHUFDQR�DO�ERUGH�VXSHULRU�GH�OD�OiPLQD�\�D�OD�GHUHFKD�GHO�HMH�PD\RU�

3XQWXDFLyQ�
Apartado 1 0,75 puntos
Apartado 2 1,50 puntos
Apartado 3 0,75 puntos
3XQWXDFLyQ�Pi[LPD 3,00 puntos

C D





�

3XQWXDFLyQ�
$SDUWDGR�� �����SXQWRV
$SDUWDGR�� �����SXQWRV
$SDUWDGR�� �����SXQWRV
3XQWXDFLyQ�Pi[LPD �����SXQWRV

%/248(�%
(-(5&,&,2����75$=$'2�*(20e75,&2�

'HILQLGD�XQD�HOLSVH�SRU�HO�IRFR�)��OD�UHFWD�WDQJHQWH�7�\�XQR�GH�VXV�HMHV�GH�VLPHWUtD�(��VH�SLGH�
�� 'HWHUPLQDU�HO�FHQWUR��HO�RWUR�IRFR��DVt�FRPR�ORV�HMHV�
�� 'LEXMDU�OD�HOLSVH�
�� 'HWHUPLQDU�HO�SXQWR�GH�WDQJHQFLD�GH�7�VREUH�OD�FyQLFD�\�WUD]DU�HQ�pVWH�OD�UHFWD�QRUPDO�1�
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BLOQUE B
(-(5&,&,2����75$=$'2�*(20e75,&2�

'DGR�HO�IRFR�)�\�OD�UHFWD�WDQJHQWH�7�HQ�XQ�SXQWR�$�GH�XQD�SDUiEROD��VH�SLGH�
1. 5HSUHVHQWDU�HO�HMH��HO�YpUWLFH�\�OD�GLUHFWUL].
2. 'LEXMDU�OD�SDUiEROD�
3. 7UD]DU�OD�QRUPDO�D�OD�FyQLFD�HQ�HO�SXQWR�$�\�OD�WDQJHQWH�HQ�VX�YpUWLFH�

3XQWXDFLyQ�
Apartado 1 1,00 puntos
Apartado 2 1,50 puntos
Apartado 3 0,50 puntos
3XQWXDFLyQ�Pi[LPD 3,00 puntos
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%/248(�%
(-(5&,&,2����75$=$'2�*(20e75,&2�

'DGRV�HO�IRFR�)��\�ODV�UHFWDV�WDQJHQWHV�7��\�7��D�XQD�SDUiEROD��VH�SLGH�
�� 'HWHUPLQDU�OD�GLUHFWUL]��HO�HMH�\�HO�YpUWLFH�
�� 'LEXMDU�OD�SDUiEROD�
�� 'HWHUPLQDU�ORV�SXQWRV�GH�WDQJHQFLD�GH�ODV�UHFWDV�7��\�7��VREUH�OD�FyQLFD�\�WUD]DU�HQ�pVWRV�ODV�UHFWDV�QRUPDOHV�1��\�1��

UHVSHFWLYDPHQWH�

3XQWXDFLyQ�
$SDUWDGR�� �����SXQWRV
$SDUWDGR�� �����SXQWRV
$SDUWDGR�� �����SXQWRV
3XQWXDFLyQ�Pi[LPD �����SXQWRV
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BLOQUE B
(-(5&,&,2����75$=$'2�*(20e75,&2�

'HILQLGD�XQD�KLSpUEROD�SRU�HO�IRFR�)�\�OD�DVtQWRWD�$��VH�SLGH�
1. 'HWHUPLQDU�HO�IRFR�)
��ORV�YpUWLFHV�\�OD�DVtQWRWD�$
�GH�OD�FyQLFD��VDELHQGR�TXH�HO�HMH�UHDO�IRUPD�XQ�iQJXOR�GH�����FRQ�OD

DVtQWRWD��KLSpUEROD�HTXLOiWHUD���(OHJLU�OD�VROXFLyQ�HQ�OD�TXH�HO�FHQWUR�GH�OD�KLSpUEROD�TXHGH�OR�PiV�FHQWUDGR�SRVLEOH�
2. 'LEXMDU�OD�KLSpUEROD�
3. 7UD]DU�OD�WDQJHQWH�HQ�HO�SXQWR�3�GH�OD�FyQLFD�TXH�VH�HQFXHQWUD�D����PP�GH�)�\�PiV�FHUFDQR�DO�ERUGH�VXSHULRU�GH�OD

OiPLQD�

3XQWXDFLyQ�
Apartado 1 1,00 puntos
Apartado 2 1,50 puntos
Apartado 3 0,50 puntos
3XQWXDFLyQ�Pi[LPD 3,00 puntos

F

A





%/248(�%
(-(5&,&,2����75$=$'2�*(20e75,&2�

'DGRV�ORV�IRFRV�)�\�)
�GH�XQD�KLSpUEROD�HTXLOiWHUD��VH�SLGH�
�� 'HWHUPLQDU�HO�FHQWUR�2�\�ORV�YpUWLFHV�9�\�9
�GH�OD�FyQLFD�
�� 'LEXMDU�OD�KLSpUEROD�
�� 7UD]DU�OD�WDQJHQWH�\�OD�QRUPDO�HQ�HO�SXQWR�3�GH�OD�FyQLFD�TXH�VH�HQFXHQWUD�D����PP�GH�)�\�PiV�FHUFDQR�DO�ERUGH

VXSHULRU�GH�OD�OiPLQD�

3XQWXDFLyQ�
$SDUWDGR�� �����SXQWRV
$SDUWDGR�� �����SXQWRV
$SDUWDGR�� �����SXQWRV
3XQWXDFLyQ�Pi[LPD �����SXQWRV
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) )













